PROBLE M 13.2%

KNOWN: The welar analysi's of o gas wmiviure /s specifred.
FIND: Determine the amalysis i terms of wast frach'ons, the portial pressure

of each component, aud the voluwe oeceupred hy o ¥9 of miviure.
SCHEMATIC 7 GIVEN DATA:

30°c, 2 bar
10 g

ASSUMPTIONS () The overall mix+ure acti as  an Jdeal gas. (2) Each wy bure
component behaves as if it were anw sdeal Jas occupyrng the entre volume
at +he mivinre temperature. (3) Calcolations are based on 1 rmol of mixturein partia),

ANALYSIS(*) Considering a #yprcal [ kmol of mixture
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(b) Witk Eq. 1212

Puc = Yne B =(00(2bar) =0 bar

- te)
Pror = Ao © = (05)(2bar) = (.ObOr
Pebn® Yu @ = (ot‘\(%”) = 0.War
) Witk ¥he (deal gas equah'on of statfe applred to +he overall miviure.
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{. The opparent Wolecular werght  of +he wmigdure s obtaned in +he

talculabions of part (a). Equivaleatly o E4.12.4 cau he uvsed: M= Z)Q-N"

Mz Yo, My, + Yeo, Meo, + 'ﬂu\M Cly
= (0.4)(22.00) + (0.5 4u(.00) + (0. Y ((e.4) =34, 813 (‘:JW(
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